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Question Number : 1 Question Id : 14658751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following hills is NOT situated in the Chhattisgarh?
Options :

146587201. #* Chhuri Hills

146587202. # Korea Hills

146587203. * Deogarh Hills

146587204. ¥ Barwani Hills

Question Number : 1 Question Id : 14658751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frafafad 3 3 &1 9 ugrs! sxinTe # fyd =181 82
Options :

146587201. % I UgrSl

146587202, % SHINTT UGTS!

146587203. * <dT¢ UgTo!



146587204, ¢ SSdI UgTe!

Question Number : 2 Question Id : 14658752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following river is famous as the Ganga of Chhattisgarh?
Options :

146587205. * Shivnath

146587206. ¥ Mahanadi

146587207. * Mand

146587208. * Doodh

Question Number : 2 Question Id : 14658752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fofafed & 3 oF W@ ¢ StieTe &1 171 & © U ¥ UG 82
Options :

146587205, % TRIa=Ty

146587206. ¥ HgTal

146587207. * HIUS

146587208. * G¥Y

Question Number : 3 Question Id : 14658753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The state of Chhattisgarh was carved out of state of:
Options :

146587209. * Jharkhand

146587210. #* Uttarakhand

146587211. ¥ Madhya Pradesh

146587212. # Odisha



Question Number : 3 Question Id : 14658753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o g B! FAUTRIT PR & BRIIG T BT 184 fhar T
Options :

146587209, % YRTS

146587210, % ITRLS

146587211, ¥ U YT

146587212. % 3fifsm

Question Number : 4 Question Id : 14658754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In ancient times, Chhattisgarh was known as:
Options :

146587213. ¥ Dakshin Kosala

146587214. # Uttar Kosala

146587215. #* Vindhyachal

146587216. * Bayalisgarh

Question Number : 4 Question Id : 14658754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YT bTel H, BTIRTG fohd =TTH J ST ST U2
Options :

146587213. ¢ GI&0 B

146587214, % IR HIGA

146587215. % fdedmerd

146587216. ¥ SUTARITG



Question Number : 5 Question Id : 14658755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The first war of independence in 1857 was spearheaded in Chhattisgarh by
Options :

146587217. # Uday Pratap

146587218. ¥ Vir Narain Singh

146587219. * Chhatrapti Shavaji

146587220. #* Tantiya Tope

Question Number : 5 Question Id : 14658755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG § 1857 U §U UYH Waa=dl SUH &1 A fdba- faar ur
Options :

146587217. ¥ 3¢9 Udl

146587218, ¢ dR AR &g

146587219. % Ul fRrarsh

146587220, % dicr g

Question Number : 6 Question Id : 14658756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which festival of Chhattisgarh do the farmers worship the cows and the farm equipment?
Options :

146587221. % Chaitrai

146587222. % Hareli

146587223. % Nawakhana

146587224. # Korba Mahotsav

Question Number : 6 Question Id : 14658756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

BTG & g Ia H foram 1 Ud Wl & ISR} &1 goT vd 62
Options :

146587221, % <Al

146587222, ¢ Bl

146587223, ® FdQII

146587224. % PRI HaIdd

Question Number : 7 Question Id : 14658757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Utti Chhattisgarhi dialect is generally spoken in which part of Chhattisgarh?
Options :

146587225. ¥ Eastern Chhattisgarh

146587226. ¥ Western Chhattisgarh

146587227. # Northern Chhattisgarh

146587228. * Southern Chhattisgarh

Question Number : 7 Question Id : 14658757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3ol BTG Sle 3TH AR WR BURATG & fohd I H aiet STl 82
Options :

146587225. ¥ Jdf Sxit T

146587226. % Ui w<iTe

146587227, % IR DTG

146587228. % GI&UN BN

Question Number : 8 Question Id : 14658758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which dance form of Chhattisgarh symbolises the mythological battle between evil king Kansa and Lord Krishna?
Options :

146587229. # Lorik Chanda

146587230. * Panthi Dance

146587231. * Soowa Dance

146587232. ¥ Raut Nacha

Question Number : 8 Question Id : 14658758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STATG B DIF- T T 8T R oM B 3R WA HUT & §1d & GRS J& BT Ui 82
Options :

146587229, ¥ QIR <al

146587230. % Gt I

146587231, % gaT
146587232. ¢ 3 A

Question Number : 9 Question Id : 14658759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following musicians is associated with Pandavani form of music?
Options :

146587233. * Vandana Vishwas

146587234, % Mamta Chandrakar

146587235. ¥ Ritu Verma

146587236. #* Sindura Bhargav

Question Number : 9 Question Id : 14658759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafifea # 3 o o Tifider Iid & dsar fau 3 Je1g8n 32

Options :



146587233, % de1 fayrg
146587234, % HHAT JSIhR
146587235, ¢ g adf
146587236, # g1 UFig

Question Number : 10 Question Id : 14658760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Name the writer who was given the Sahitya Akademi award for the novel 'Deewar Mein Ek Khirki Rehti Thi'.
Options :

146587237. # Surendra Dubey

146587238. ¥ Vinod Kumar Shukla

146587239. # Laxminarayan Payodhi

146587240. ¥ Bela Bhatia

Question Number : 10 Question Id : 14658760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Y AGH BT A 1 5, forg dlar & U st gt o Iu=um & fore e sravrert Qe fean mar um

Options :

146587237. % & gd
146587238. ¢ fa-lg $UR Yo
146587239, # AR gAY
146587240. % o Hifedn

Question Number : 11 Question Id : 14658761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, no person shall be eligible for seeking election as an office-bearer of a Panchayat from
more than ward of constituency as the case may be.

Options :



146587241. ¥ one
146587242, # two
146587243. # three
146587244, # four

Question Number : 11 Question Id : 14658761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG UArId IS AMTH, 1993 & dgd, Bis Hi Afad, fasdl o Rufar o, Fafe e 3 31t 18 | vard &
TeTRIBRI & =0 H g9 & forg urr =gl g

Options :

146587241. ¥ Uh

146587242. % @

146587243, % T

146587244, # dR

Question Number : 12 Question Id : 14658762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The state of Chhattisgarh is divided into how many administrative divisions?
Options :

146587245. * Two

146587246. * Three

146587247. % Four

146587248. ¥ Five

Question Number : 12 Question Id : 14658762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG 3oy fha- yemafae g # fyufora g2

Options :



146587245. % &

146587246, % A
146587247, % TR
146587248, ¢ UH

Question Number : 13 Question Id : 14658763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh was carved on 1st, November 2000 with its Chhattisgarhi speaking districts.
Options :

146587249. * 12

146587250. ¥ 16

146587251. * 18

146587252, % 22

Question Number : 13 Question Id : 14658763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

| TG, 2000 B TG HINS Tl & 1Y BTG BT T foodr 7 |
Options :

146587249. # 12

146587250. ¥ 16

146587251. #* 18

146587252, % 22

Question Number : 14 Question Id : 14658764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh is the only state in India to produce tin concentrates, and accounts for approximately of the country’s tin ore reserves.
Options :

146587253. % 25%



146587254. ¥ 36%
146587255, * 42%
146587256. * 45%

Question Number : 14 Question Id : 14658764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fe Tigan (tin concentrates) P UG- B Tl @T‘ﬂ@ﬁ WWWW%, G@Té’ﬂ%%ﬁ HYID b ITYHIT ‘J-TET?%I
Options :

146587253. % 25%

146587254. ¥ 36%

146587255, % 42%

146587256. % 45%

Question Number : 15 Question Id : 14658765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The sector that generates highest employment for Chhattisgarh is:
Options :

146587257. ¥ Agriculture

146587258. # Mining

146587259. # Fishing

146587260. #* Craftsmanship

Question Number : 15 Question Id : 14658765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IO & forw Ty waTeT IoR fAfffer aren &= 1
Options :

146587257. ¥ HY

146587258. % WSl



146587259. # AJ UHSl
146587260. # fRIeq HIRE

Question Number : 16 Question Id : 14658766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most exported commodity for Chhattisgarh for Financial Year 2018?
Options :

146587261. * Coal

146587262. * Tin

146587263. ¥ Non-basmati rice

146587264. # Apparel

Question Number : 16 Question Id : 14658766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

faita aef 2018 & B<ierTg & forw FRafafad & 3 oF W v sif¥e fafd o o arelt axg 2
Options :

146587261, % HITdl

146587262. % fe

146587263, ¢ TR-STGHT T1ad

146587264, % ORYM

Question Number : 17 Question Id : 14658767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh is called the of Central India.
Options :

146587265. ¥ rice bowl

146587266. * sugar bowl

146587267. * tin tycoon



146587268. #* coal captain

Question Number : 17 Question Id : 14658767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TG AL YR BT FHeAd gl
Options :

146587265. ¥ TG B HER]

146587266. % Il BT BRI

146587267. % ¢ BT 3R

146587268. % HITAI B

Question Number : 18 Question Id : 14658768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was Chhattisgarh known as during the Mughal reign?
Options :

146587269. # Haveli

146587270. # Raipur territory

146587271. # Durg

146587272. ¥ Ratanpur territory

Question Number : 18 Question Id : 14658768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A MAHIE & GRM, STTG B FUfeRad & J food 918 I S STt U1

Options :

146587269. % gadl

146587270. % TAYR &3 (Raipur tetritory)
146587271, ® Il

146587272, ¢ AR &3 (Ratanpur tetritory)




Question Number : 19 Question Id : 14658769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Where is the Kutaghat dam situated in Chhattisgarh?
Options :

146587273. # Raigarh

146587274. % Balod

146587275. * Dhamtari

146587276. ¥ Bilaspur

Question Number : 19 Question Id : 14658769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
STTTG H geTdTe a1y FHal fUd g2
Options :

146587273. ¥ TG

146587274, % STAIG

146587275, % YHRI

146587276. ¢ TaQR

Question Number : 20 Question Id : 14658770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following cultural festival is hosted in Chhattisgarh?
Options :

146587277. # Rongali Bihu

146587278. % Sarakka Festival

146587279. ¥ Bastar Lokotsav

146587280. * Lepakshi utsav

Question Number : 20 Question Id : 14658770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

frafafad o @ & 1 gipiae ud ST o smaford farar ST g2
Options :

146587277. % ATl fog

146587278. % TRGPH] Heldd

146587279. ¢ TR AlbIcdd

146587280. * TuTelt Id

Question Number : 21 Question Id : 14658771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

By what other name Chhattisgarhi language is known?
Options :

146587281. # Kalanga

146587282. ¥ Khaltahi

146587283. #* Bhulia

146587284. % Kavardi

Question Number : 21 Question Id : 14658771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BN T 1 3= foby A1 | 1 STt 82

Options :
146587281, ¥ Bl
146587282. ¢ WaldTo!

146587283, % ferdT
146587284, # Hac|

Question Number : 22 Question Id : 14658772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Which of the following region of Chhattisgarh has lowest forest cover?
Options :

146587285. # Dantewara

146587286. * Sarguja

146587287. ¥ Janjgir—Champa

146587288. * Raigarh

Question Number : 22 Question Id : 14658772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FUTe & Fufiad § 4 foy &7 & god v a1 a7 82

Options :

146587285, # Eadrel

146587286. ¥ ISl
146587287, « SIoTIR-UT

146587288. * [UTe

Question Number : 23 Question Id : 14658773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The High court of Chhattisgarh is situated in?
Options :

146587289. # Korba

146587290. ¥ Rajnandgaon

146587291. % Bilaspur

146587292. # Durg

Question Number : 23 Question Id : 14658773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG BT I TTATAT Hgl (Ud 52




Options :
146587289. # BRG]
146587290. % ISTHcINd

146587291, ¢ faelQR

146587292, % Il

Question Number : 24 Question Id : 14658774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

India's only active mine of which metal is located in Bastar district of Chhattisgarh?
Options :

146587293. ¥ Tin

146587294. # TIridium

146587295. # Platinum

146587296. # Manganese

Question Number : 24 Question Id : 14658774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
YR & THHAE Ilfchd W FTe & %R o & Ry g

Options :

146587293, ¢ feq
146587294, % RISTH
146587295. % wifewH
146587296. % HIIS

Question Number : 25 Question Id : 14658775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which city of Chhattisgarh, India's first 'Garbage Café' was set up in the year 2019?
Options :



146587297. ¥ Ambikapur
146587298. # Raipur
146587299. # Bhilai
146587300. * Korba

Question Number : 25 Question Id : 14658775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BT & forg TR H 9 2019 H YR BT UgdT e i RO favam mmam um

Options :

146587297. ¢ 3{dHIR

146587298. % IR
146587299, % fdTS
146587300. # BRG]

Computer Knowledge
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Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 14658776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A is an input device that is mostly used as a pointing device found on the keyboard in notebooks or laptop computers, which works
like a mouse.

Options :

146587301. # Scanner
146587302. # Joystick
146587303. * Microphone
146587304. ¥ Track ball

Question Number : 26 Question Id : 14658776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Wsl%; fEarzy 7, oI SUaT Srerar uisfet (Ford) fearsa & w0 § a1 91 ], 98 -icg® a1 dueid Huex &
Pials W B & 3R ASY &1 R HH FAT 5 |

Options :

146587301, % IHR
146587302, % SARcH

146587303, ® HTSHIHGIT

146587304, ¥ ¢ Sid

Question Number : 27 Question Id : 14658777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following terms is used to describe a collection of letters and numeric characters?
Options :

146587305. # Alphabetic characters

146587306. ¥ Alphanumeric characters

146587307. #* White-space characters

146587308. # Special characters

Question Number : 27 Question Id : 14658777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



frafaRad @ 9 ford ue &1 IUANT 3Rl 3R TF=ITdS AUdD] (AR dhrac) & WIE B auH - & fo1g T SrdT 52
Options :

146587305. % 3{&RTHD TUdIP (Alphabetic characters)

146587306. ¥ 3{ch] b1 TUIH (Alphanumeric characters)

146587307. % W—@F Tudie (White-space characters)

146587308. % fa=IY YUii® (Special characters)

Question Number : 28 Question Id : 14658778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(1) Dot-matrix is an example of point and draw devices.
(i1) Dot-matrix printers are also called character printers.

Options :

146587309. ¥ Only (i)
146587310. ¢ Only (ii)
146587311, % Both (i) and (i)
146587312. # Neither (i) nor (ii)

Question Number : 28 Question Id : 14658778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frafied & 9 &1 918 YT I 8/8?

@A) Sﬁf—ﬁﬁ,\aﬂ Wlgc 3R Sl IRl (point and draw devices) DT Udh JalgUl gl
(ii) Sic-ATcay flilex oI dhraeR fiex (character printer) H HET ST B |

Options :

146587309. % &Hdd (i)
146587310. ¢ &Had (ii)
146587311, # (i) 3R (ii)
146587312, % Tl (i) IR AT &Y (ii)



Question Number : 29 Question Id : 14658779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With respect to computer systems, the term ALU stands for:
Options :

146587313. ¥ Arithmetic Logic Unit

146587314. # Advanced Logic Unit

146587315. # Arithmetic Logic Unique

146587316. # Alternative Logic Unit

Question Number : 29 Question Id : 14658779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SR Red & ¥eH #, ALU et &1 YUl 9 &1 87

Options :
146587313. ¢ 3{RYBfCH Qlforeh AT (Arithmetic Logic Unit)
146587314, ¥ TSARS dlfvleh AT (Advanced Logic Unit)

146587315. # 3RyAfeH AlfvID gd (Arithmetic Logic Unique)
146587316. % 3feeATcd qifvle g{Ac (Alternative Logic Unit)

Question Number : 30 Question Id : 14658780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the odd option from those given below, with respect to their data accessing mechanism.
Options :

146587317. ¥ RAM

146587318. # Hard Disk

146587319. ¥ ROM

146587320. ¥ Magnetic Tape

Question Number : 30 Question Id : 14658780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

T feu U [a el § O, 39 Sl TauRiT fhanafe & deey H, 3Ed [dded i UgdT &I |
Options :

146587317. ¥ RAM

146587318, # BTS S%H

146587319. % ROM

146587320. ¢ BAfeH U

Question Number : 31 Question Id : 14658781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) CU stands for 'command unit' and it controls the overall functioning of a computer system.
(i1) Both CU and ALU are integral components of the CPU.

Options :

146587321. #* (i) - TRUE; (ii) - TRUE
146587322. * (i) - TRUE; (ii) - FALSE
146587323. # (i) - FALSE,; (ii) - TRUE
146587324. % (i) - FALSE,; (ii) - FALSE

Question Number : 31 Question Id : 14658781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fau Tu faswedl § @ 1 U1 fawey Rufafad syt o) Tdrar &1 garad faaror uRgd a1 /2

(i) CU &1 J01 ¥ 'command unit’ (HHIS 8 3R U8 HeR Red & YT HHEGS & R HRar gl
(i) CU 3R ALU GFi CPU & A 4 5 |

Options :

146587321. # (i) - T, (ii) - G

146587322, # (i) - T, (ii) - 3ITA




146587323. ¥ (i) - 31; (i) - I
146587324, % (i) - 31T; (ii) - 3T

Question Number : 32 Question Id : 14658782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word 2013, which of the following keyboard shortcuts is used to switch to Print Preview?
Options :

146587325, # Alt + Ctrl + 1

146587326. * Ctrl + Alt + P

146587327. #* Ctrl + Home

146587328. * Ctrl + Shift + P

Question Number : 32 Question Id : 14658782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2013 H, ﬁyﬁﬂ@aﬁ%aﬁaﬁémﬁwwﬁﬁzﬁq%ﬁﬂﬁmwév
Options :

146587325. ¥ Alt + Ctrl + 1

146587326. #* Ctrl + Alt + P

146587327. # Ctrl + Home

146587328. % Ctrl + Shift + P

Question Number : 33 Question Id : 14658783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word 2016, which of the following options is NOT available under the 'Layout' tab?
Options :

146587329. % Margins

146587330. #* Orientation

146587331. * Size

146587332. ¥ Document Formatting



Question Number : 33 Question Id : 14658783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2016 ff, ‘Layout (@f\’lﬂ?ﬁ)’ 9 # fgfafea O @ oF 91 fasey Suasy qﬁ%"
Options :

146587329. % Margins (HTfoI=)

146587330. ¥ Orientation (3NRUCTM)

146587331, # Size (TT3V)
146587332. ¥ Document Formatting (E'THQ:EFC' BIH )

Question Number : 34 Question Id : 14658784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following file extensions is NOT a valid extension of a Microsoft Excel file?
Options :

146587333. % xlw

146587334, % Xxls

146587335, % xlsx

146587336. ¥ .slxl

Question Number : 34 Question Id : 14658784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafefad & § S 91 BIsd TR T Microsoft Excel TId o1 AT TaHC Y 8l 82
Options :

146587333, # xlw

146587334, % xls

146587335, % xlsx

146587336. ¢ slxl




Question Number : 35 Question Id : 14658785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts can be used to make your texts in an MS-Word document a bit bigger?
Options :

146587337. % CTRL +L

146587338. ¥ CTRL + SHIFT + >

146587339. # ALT + SHIFT + >

146587340. # ALT +L

Question Number : 35 Question Id : 14658785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS-Word S¥ITAw H 30 TRE &1 UTST 81 B & forg Fafarfea # ¥ forg o161 idewe &1 Iy faan o Iehdr g2
Options :

146587337. % CTRL +L

146587338. ¥ CTRL + SHIFT + >

146587339. # ALT + SHIFT + >

146587340. % ALT +L

Question Number : 36 Question Id : 14658786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with a suitable option to clear tabs in Tab clear dialog in Microsoft Word 2013.

Go to Home -> Click on group -> Click on Tabs button -> Enter value in Textfield Tab stop position -> Click on OK button
Options :

146587341. # Editing

146587342. ¥ Paragraph

146587343. * Fonts

146587344. # Clipboard



Question Number : 36 Question Id : 14658786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Microsoft Word 2013 & ¢§ eiR SN H & aiTaR HR o o8 IUgad faded & a1y Fad - &1 fed B |

Home H ST - > group Ux fdeTd B -> Tabs button TR fdd® B > Textfield Tab stop position | 3?«'1122? P > OK button TR
ENEZRY

Options :

146587341, # Editing (TfSfem)

146587342, ¥ Paragraph (URTITH)

146587343. % Fonts (I<H)

146587344. % Clipboard (fF0aNs)

Question Number : 37 Question Id : 14658787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DOS is an operating system. What does the letter 'D' in DOS stand for?
Options :

146587345. # Distributed

146587346. ¥ Disk

146587347. # Durable

146587348. ¥ Domain

Question Number : 37 Question Id : 14658787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
DOS T ATRFET Rer g1 39 pos W'D &1 quf &g aar 82

Options :

146587345. * Distributed (& ISS)

146587346, ¢ Disk (f$%b)

146587347. ¥ Durable (SIRdd)
146587348. # Domain (SIH)



Question Number : 38 Question Id : 14658788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
State whether the following statements are TRUE or FALSE.

a) Compiler translates high-level language code into machine code.
b) An operating system is a collection of programs that allow the user to run application software.

Options :

146587349. ¥ a) — True; b) — True
146587350. # a) — False; b) — False
146587351. # a) — False; b) — True
146587352. # a) — True; b) — False

Question Number : 38 Question Id : 14658788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Y B fob U@ § A S /A YT I AT Tad 878 |

a) HUTZER TR-Add UV HIS BT AR HIe T 3dIe HRT g |

b) U TR RieH YA &1 98 TIE 7, S SUTNTHd! Bl URIh e AIieddr IdM &1 SJAfd T g |
Options :

146587349. ¢ a) — Tal: b) — sl

146587350. % a) — Td; b) — TTAd

146587351. % a)—Tdd; b) — To!

146587352, % a)— @l ; b) — Tad

Question Number : 39 Question Id : 14658789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns.

a) Assembler 1) Responsible for loading programs and libraries into memory

b) Interpreter ii) Converts assembly code into machine code

c) Compiler iii) Translates one line at a time
d) Loader 1v) Translates whole code at once
Options :

146587353. % a—1ii; b —iii; c —iv; d —1i
146587354, # a—1ii;b—iv;c—1i;d—iii
146587355. # a—1ii;b—1iv;c—1iii;d—1i
146587356. # a—1ii;b—1iii; ¢ —1;d —iv

Question Number : 39 Question Id : 14658789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



FIeTAT T ITH H Ter &Hara I

a) 3R | i) AAY A wEnA 3R FEad & =9 F v SR

b) SeTYeT | ii) =l HIE Hr FAMA HIS H FgolaT ¢l

c) R | i) T & H T Uik T 3MeJdG Il ¢

d) sIsT | iv) T G A X P18 & HeJalg HT gl

Options :

146587353. % a—1ii; b —iii; c —iv; d —1i
146587354, # a—1ii;b—iv;c—1i;d —iii
146587355. # a—1ii;b—1iv;c—1iii;d—1i
146587356. # a—1ii;b —iii; ¢ —1;d —iv

Question Number : 40 Question Id : 14658790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
COBOL language was designed for
Options :

146587357. ¥ business application
146587358. % system programming
146587359. # embedded application
146587360. * data application

Question Number : 40 Question Id : 14658790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



COBOL HTHT &I CANMESIESICR IR

Options :

146587357, ¢ fa9-19 U@
146587358. % Rcd URMfHT
146587359, # Tdes TEIHTHA
146587360. * ST TEAIHT

Question Number : 41 Question Id : 14658791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) LISP 1) Client-side scripting

b) JavaScript | ii) Language for research in artificial intelligence

c) PHP iil) Procedural language

d) C language | iv) Object-oriented server-side scripting language

Options :

146587361. ¥ a—1ii; b—1i; c —iv; d —iii
146587362. ¥ a—1i;b—ii; c—iv; d —iii
146587363. ¥ a—ii;b—iii;c—iv;d—1i
146587364. ¥ a—ii;b—1i;c—iii;d—iv

Question Number : 41 Question Id : 14658791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



v v @i # Ao Y AR w9 3uged wE Fwed 1 a9d
a) LISP ) Fomse @Es fEmiceer

b) smar f&pee | ii) nfEhifdaer sefosa smgaus & e smo
c) PHP iii) SfEaTeHe ST

d) C seT iv) 3Tesiae Hifives wa-ums EpfoaeT smr

Options :

146587361. ¥ a—1ii;b—1; ¢ —1iv; d —iii
146587362. # a—1i;b —ii; ¢ —1iv; d —iii
146587363. # a—1ii;b —1iii; c —iv;d —1i
146587364. # a—1ii;b—1; ¢ —iii; d —iv

Question Number : 42 Question Id : 14658792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the full form of JSP?

Options :

146587365. ¥ Java Server Pages
146587366. * Java Servlet Pages
146587367. # Java Script Pages
146587368. # Java Service Page

Question Number : 42 Question Id : 14658792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
JSP &1 U1 faRaTiRd U 1 82

Options :



146587365. ¥ Java Server Pages (STTaT ek Uod)
146587366. ¥ Java Servlet Pages (SITdT Jdaie Uoiy)

146587367. % Java Script Pages (ST1dT f&pY Uo19)
146587368. % Java Service Page (STTaT Wiay U

Question Number : 43 Question Id : 14658793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The language is NOT a scripting language.
Options :

146587369. # PowerShell

146587370. # JavaScript

146587371. ¥ C++

146587372. % VBScript

Question Number : 43 Question Id : 14658793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST ReB T W 161 8 1

Options :

146587369. % TR
146587370, % STATFGHY
146587371. ¢ C++
146587372. ® VBf&pY

Question Number : 44 Question Id : 14658794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the most appropriate option from those given below.

a) Java i) Database Interface Language

b) SQL | ii) Compiled and Interpretation based Language

c) CSS iii) Combination of JavaScript and XML

d) Ajax | iv) Style Sheet

Options :

146587373. % a—1ii;b—1; ¢ —1iv; d —iii
146587374. # a—1;b—ii; ¢ —1iv; d —iii
146587375. # a—1ii;b—1iii; ¢ —iv;d —1i
146587376. # a—1ii;b—1iv;c—1i;d —iii

Question Number : 44 Question Id : 14658794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T a1v e @ Fema Y AR FEE 3ugFd War @eeq & 9ae #+Y |
a) SET | i) 2CTEH STTHY AT9T

b) SQL |ii) Prrarges 3T gerfeers smenfya e
c) CSS |iii) SmanfEpee 3k XML 1 Fa=i=

d) Ajax |iv) TEE i

Options :
146587373. % a—ii; b—1i; ¢ —iv; d —iii



146587374. ¥ a—1i;b—ii; c —iv; d —iii
146587375. ¥ a—ii;b—iii;c—iv;d—1i
146587376. ¥ a—ii;b—iv;c—i; d—iii

Question Number : 45 Question Id : 14658795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Google searches the web with automated programs called
Options :

146587377. ¥ Crawling

146587378. # Indexing

146587379. # Serving search results

146587380. ¥ Domain address

Question Number : 45 Question Id : 14658795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Google A Iferd MUTH & 1Y 39 IR Wil dRdl g

Options :

146587377. ¢ ShICil
146587378, % SR
146587379. % FfAT I Refeed

146587380. # SO Udl

Question Number : 46 Question Id : 14658796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is an algorithm used by Google Search to rank websites in their search engine results.

Options :
146587381. ¥ PageRank
146587382. ¥ PageRing



146587383. # PageRang
146587384. # PageTank

Question Number : 46 Question Id : 14658796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TS TANRYHA g FORIT ST Google TSI gRT ATHISE! I IP T 3o URUTHI H Vb B & o fpar Sran g |

Options :

146587381, ¥ UGN (PageRank)
146587382, % USINAT (PageRing)
146587383, % TSI (PageRang)
146587384, % TSI (PageTank)

Question Number : 47 Question Id : 14658797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With reference to search engines, which of the following is odd one?
Options :

146587385. ¥ Mozilla Firefox

146587386. # Baidu

146587387. # Ask.com

146587388. # Yandex

Question Number : 47 Question Id : 14658797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T goi o el #, Faferied o 9 &F a1 o= 3 e 82
Options :

146587385. ¥ Mozilla Firefox

146587386. ¥ Baidu

146587387. % Ask.com



146587388. * Yandex

Question Number : 48 Question Id : 14658798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
a global system of interconnected computer networks that use the standard Internet protocol suite (TCP/IP).
Options :
146587389. % Intranet
146587390. * Extranet
146587391. # Internet
146587392. * Topology

Question Number : 48 Question Id : 14658798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SRHICE HHCR Acddh DI U Ay YUME Sl TS S Sex-c UIeidbld Y& (TCP/IP) BT SUIN HRll |
Options :
146587389. ¥ ST
146587390. ¥ TRCMHC
146587391, ¢ ST
146587392, % CIOIdlSll

Question Number : 49 Question Id : 14658799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is used for secure browsing and it works at port number
Options :
146587393. ¥ HTTPS; 443
146587394, % HTTP; 443
146587395. % FTP; 444
146587396. % SMTP; 443



Question Number : 49 Question Id : 14658799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
DT SUTANT JRI&T ST & forg fopam SiTelm § 8fR I8 Ui R R HTH FAT 5|
Options :
146587393. ¥ HTTPS; 443
146587394. % HTTP; 443
146587395. * FTP; 444
146587396. ¥ SMTP; 443

Question Number : 50 Question Id : 146587100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a network, measures the time it takes for some data to get to its destination across the network. It is a measure of delay.
Options :

146587397. ¢ latency

146587398. # bandwidth

146587399. # frequency

146587400. * wavelength

Question Number : 50 Question Id : 146587100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fopeft Aead o, $T ST P Heddh IR P Tded db Ugd- | o aTd T8 & 19! § | T8 &3 &1 T AT g |
Options :

146587397. ¢ wicdl
146587398. % defagy

146587399, % Thidrdl
146587400. % dddy




